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QUESTION 1

You are troubleshooting a signal strength issue when you notice that the signal strength changes from -70 to -73 dBm
as you move from one room to another. 

In this scenario, what is happening? 

A. Signal strength has increased by 10x. 

B. Signal strength has decreased by 10x. 

C. Signal strength has doubled. 

D. Signal strength has halved. 

Correct Answer: B 

 

QUESTION 2

You are designing a wireless network that requires smooth roaming performance and redundant coverage from at least
two access points at every location. 

What ensures that both of these functional requirements are satisfied? 

A. co-channel interference 

B. secondary coverage 

C. primary coverage 

D. data rate 

Correct Answer: D 

 

QUESTION 3

In a standard roam from one access point to another access point, what makes the decision to roam? 

A. the controller 

B. the access point 

C. the client device 

D. the cloud 

Correct Answer: C 

 

QUESTION 4
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Which two statements about the Mist UI are true? (Choose two.) 

A. It can initiate a wireless packet capture. 

B. It can initiate a wired packet capture. 

C. It can initiate a BLE packet capture. 

D. It can initiate a packet capture on cloud uplink. 

Correct Answer: AB 

 

QUESTION 5

Which device is responsible for roaming decisions? 

A. user 

B. client 

C. controller 

D. AP 

Correct Answer: B 
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